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2: 2oas SN B2ERH E20
M ARIOHE PRy
el WHES FAMEE M (ehel: =3
MR- FH-E(BN) - R - BaS 01 &t o8 e HlRE2
OdIIe3 7,500,000 = 128 90,000
OtAe3 4,900,000& = 123 58,800
O&dt=ER= 3,200,000& » 12& 38,400
OFARIE SBIHLRES
1,050,000& * 23] 2,100
OL 2 otdE 3| 60,000 * 13l 60
OZAJIAHIMEEZ 200,000& * 13 200
O228H4 =D 2= 50,0008 » 123 600
OuLESRLRE=S 5002 = 10,446m * 50% 2,612
OxXNELHeE RFH
1,400& » 202 » 150 4,200
otlagdI| Sl 1,938
ORFHl 1,750 = 54 502 438
OsXl2eltl 1,500,000& * 1CH 1,500
206 M=l 24,652 22,223 2,429
01 Mz bl 24,652 22,223 2,429
A2 B3A8S 6,000
OEEESEA 2 100,000& * 58 = 12& 6,000
Os A 2e RNES 2,160
O&IIZEDI 150,000& = 84 1,200
Oodxs018 2 20,000 * 48 = 123 960
O EA AIRA 394 22ES 3,054
O3 E &N 12,000& * 12014 « 63 864
OBIIMEA 13,0003 * 2004 * 6& 1,560
@FSReak-lrm N 15,000& * 704 « 63 630
OJIHA RN BE=25 1,350
OJtAEH2 50,000& * 938 « 33| 1,350
OLYAE 2els8 2XI 2 720
OxXsA & X7 6,000& » 504 » 12& 360
ogZ X2l 5,000& * 604 » 12& 360
ORHEIT &% 22 30,0008 * 48 * 43| 480
o022 R 457 1,823
OFZHA 3,500& * 3£ 145 1,523
OE2tH 60,000& * 5= 300
Od2aE A=24EF 7Y 150,000& * 123l 1,800
O W AL (HEL 195)
200,000& * 5& 1,000
Oozd=2t BALIM 45 2
42,000& * 20kg 840
O3t&E A Hid ¢ 300,000& * 5K 1,500
O3XJ & 0ozt 2L A=A
150,000& * 2& 300
OFEANHI A2F 7Y 3,625
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0 N>
2

MR- FH-E(BN) - R - BaS e HlRE2
0fl &b
Odd & ZHE 2¢ 800
-Hu 5,000& = 100m 500
-2dE 30,000& = 10 300
ogZdzo 1Y 1,825
—-18W 161,000& = 2BOX 322
—-20W 25,0003 * 2BOX 50
-32W 110,000& = 10BOX 1,100
-55W 353,000& * 1BOX 353
OF&XHI 2 98 100,000& = 108 1,000
307 QI2t0IA 8,800 11,677 N2,877
05 2IIRAE S 8,800 11,677 N2,877
OFMN gz 22| == 700,000& = 10& 7,000
o8 astae === 750003 * 2x » 12& 1,800
401 A EHIL 204 162,710 400,409 N237,699
01 Al&HI 162,710 400,409 A 237,699
EGEAHA HI|IZ2IBM (ZXAHZIIEX)
25,000,000& * 14 25,000
OFANA=E 2=, HHINEE 2+
6,000&  10,635m 63,810
OFAHIILH SXNE+ 12,900
O==ti &gt 1,000,000& * 6% 6,000
Oox&s =att 300,000 * 230424 6,900
O&A EX LEDEZS WHBA
100,000& = 100K 10,000
OFA St AT 24T At (20m)
7,000,000& 7,000
o7& EZ MUAMZE BEELEXSA 25,000
OO0tAEE 4 2 & 8,500, 000& 8,500
OEE&X 16,500,000& 16,500
OREEEE =& ZD2HAU LA (HF)
10,000,000& = 1JHA 10,000
OJIHAAY = i+~ ¥ MES BE WHSA
9,000,000& * 10 9,000
A 2lee 20,500 0 20,500
401 Al&HIZL=ROHYI 20,500 0 20,500
01 Al&H| 20,500 0 20,500
OBASLNEZAZE AIRY cIZEE S A 20,500
OAMRA HESEIA 10,000, 000& 10,000
o201 WM& & 5,000, 000& 5,000
OE&ESA 3,500,000& 3,500
O&JIIE & SII+ wH3A 2,000,000 2,000
FEs Jigtxd & &3 X& 704,943 908,009 A203,066
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R SN 2H7E
Mo ADRE pES
L mEE JlHEd 2 B2 NE cro @ el
M- "z .t (5 HEAY . B2 HEE Hl o =2t
HEHH LT 317,456 507,069 A 189,613
2Bt A Y| 165,034 139,873 25,161
3322l 165,034 139,873 25,161
OMdAEHl & 8 A= 159,034
OHRE BFRH SANES (4500H)
3,168,750& * 123 38,025
OYRE Ty X2+ (2500H)
880,200& * 12& 10,563
ORolaEBI RNRS (21H)
5,266,320& = 12& 63,196
Os 271 SX224 (13Ch)
803,000& = 12& 9,636
o+ Mgl EH0IX X
50,000& *» 188 * 123 10,800
OH 230t 2= 74|
32,089,000 = 15% 4,814
o= Jl gOd0ls
11,000,000& * 2CH 22,000
OO0IZ At PCEUWII F& 6,000
O=2&PC ==2lt| 200,000& * 30CH 6,000
M=l 4,685 3,883 802
M 28I 4,685 3,883 802
OZMESI EWFY 70,0003 * 290 = 4CH 560
OQIHYIH ZelHI| 228 7¢
165,000& * 2504 4,125
o 1K 36,737 52,313 A 15,576
& AR 36,737 52,313 AN 15,576
©OFSF— I3 2 & 2340 36,737
Ox 979,000& » 3= 2,937
OPCE e 22,4403 * 600 13,464
OAMH T2 404,800& * 42 1,620
OMse I 200,000& * 60 12,000
OgEX7 85,800& * 20& 1,716
oz S T2 5,000,000 * 12 5,000
405 RHaHH 111,000 311,000 A 200,000
01 AHaLEBHSHI 111,000 311,000 A 200,000
O73d & = FQUHH HE AREH WX 109,000
OYEE PC 1,700,000& = 50CH 85,000
Oges ZeHol 1,650,000& * 10CH 16,500
Ooges Ay 700,000& = 5CH 3,500
OXZEZE &8 Tl 1,000,000& * 4CH 4,000
OYRFEE LESFY 2,000,000& * 1CH 2,000
Al olmel = 387,487 400,940 A 13,458
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M= 2e7E SN EHTE 20
Zu: ADioE AEe
&t 3235 Jigtxd & 28 & (el &)
MR- FH-E(BN) - R - BaS 01 &t o8 e HlRE2
201 Let2d] 319,487 351,340 A 31,853
01 AtS 22l 1,760 2,980 21,220
OMBE ZASZIZH DF448
220,000& = ACH ~ 2MIE 1,760
02 223l 317,727 348,360 A 30,633
OsSAEEIE MEZ 187,949
OZESLUSEY MEE 133,637
-7 < Al 1,786,400& » 12/& » 128 21,437
- e 3 550,000& * 172l& * 128 112,200
OBt gEsld A EZ 33,792
-2l eZI|(256k)
198,000& = 72l& + 12& 16,632
-7 < &, JIENTDR)
26,0003 * 5534 « 123 17,160
OAl-72F 2|35
510,000& * 13l& * 12& 6,120
OISDN AtZ2Z 300,000& = 43|46 « 1228 14,400
Ogetde A 2= 105,000& * 603 & « 123 75,600
OsUds A EZ 40,0008 = 100 = 123 480
OAOIETV AHZ2Z  18,000& * 103l & * 12& 2,160
OCIEHYItH AIEZ
33,000& * 203l& + 12&8 7,920
Od=HgLd AIE2
35,000& * 10214 « 1228 4,200
OBE BT FEs0E 3,600
O&IIR= 150,000& = 12& 1,800
OolHY A28 (nR=s%)  150,0008 * 128 1,800
ozESAEH w2 35,818
OANEEESAY 1,500,000& * 12& 18,000
OL P FSESEPSON 14,4502 * 20CH » 12& 3,468
OBAESII 5,160& * 51CH » 12& 3,158
OFMXSEE X 189,200& = 12& 2,271
Od g s 540,000& = 123 6,480
OMEBEZAL SEHEHI 203,340& = 123 2,441
206 T2 H 3,000 3,000 0
01 M=H| 3,000 3,000 0
OEESHANE A2XM 3,000
OUTPAIOIZ 2l 105 1,500,000& * 22| 3,000
401 A EHIL 201 58,000 38,000 20,000
01 Al&HI 58,000 38,000 20,000
O+d s FU SHHE2 FEHl
3,000,000& * 62l 18,000
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M= 2e7E 2N EEPE 221
HE: AQIOIE NE2Y
et HES JIBEs U 2R XS =EE-E)
Al = X XH Ctol (S = (o] HA X A} OH I|_-|L|;=|_l‘:_ =2
OAEA 3JoE 01013 ANAE =
40,000,000& * 1AIAE 40,000
405 Kot S| 7,000 3,500 3,500
01 XL SSFHSHI 7,000 3,500 3,500
OUIER R POEARIXI &HI 7,000
O24 PORT 3,000,000& = 1CH 3,000
O48 PORT 4,000,000& = 1CH 4,000
AEs 23ME B4 129,935 72,064 57,871
= 90,000
MSAE 2el 34,905 64,864 A29,959
101 elHH| 1,405 1,364 41
04 JIZtMZ22XSE+ 1,405 1,364 41
OSUMSAE H=&Y
35,120& » 2% * 102 = 23| 1,405
401 AM&HIL 2048 33,500 63,500 A 30,000
01 Al&H| 33,500 63,500 A 30,000
OMEHSAANE WA 2 &4 33,500
Oo2s32s27 20 98 2,000,000& = 105 20,000
OsUMsAE E22] 30,0008 * 150F 4,500
OZHels=U E= 300,000& * 30JH & 9,000
gy 54 4,220 7,200 22,980
201 LBt 4,220 6,120 A 1,900
01 AFR 22l 4,220 6,120 A 1,900
ORrsSad QANA 7O 100&  1,0000H 100
OAHYHE, PCY WEWH 5,000& = 4002 2,000
ONYE S= s 20 B IHAHE
300,000& * 53] 1,500
OFAW XIS YIRS 50 FuLY
70,000& * 69Y 420
OPCY, HYE wWE2A 222
200,000& = 1H = 13 200
deEs SX EHIAE 90,810 0 90,810
& 90,000
Al 810
401 AlEHIZ 2 90,810 0 90,810
& 90,000
Al 810
01 Al&H| 90,000 0 90,000
Otte 2K ALY 90,000,000& *» 14 90,000
& 90,000
03 AIE20bl 810 0 810




43 s47s I L
Nm ADIOE NS
o°tel: A8 ZE =4 (ctel &
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
== ° T R B i o ) ° TNs a3 &= 04| AFOH U=sa
Odtd S=X UMY 20l
90,000,000& * 0.90% 810
olgte 29 564,234 371,468 192,766
= 18,000
Al 546,234
oletel x5 2 ZAB2L| 564,234 371,468 192,766
= 18,000
lgte nssd =4 230,694 173,652 57,042
101 Ql244| 1,054 682 372
04 JI2ZtMZ2=eNHsEs 1,054 682 372
oolgrel JtzJ| H ¥ 35,1203 = bH * 63| 1,054
201 LEr23| 28,540 25,900 2,640
01 AtR22|H| 28,540 25,420 3,120
OZ2 (LU )AId 229t ROl
500& = 1,000% 500
OV (RIHAN Ba) 2
11,0002 * 300H 3,300
OHiE 2l (0013, 8 X0 IHE S)
1,000& = 50074 500
oflgrel 2 22 S+9 100,000 * 7IH A 700
O HIAAIE (S=,010) ¢S wH
40,0002 * 20002 800
OIS ME 4,000& + 1008 = 13 400
ool DR HA S0
5,000& = 1002 * 13 500
ol Wsd I Rl
70,000& * 12& 840
oY DR ALY
100,000 * 3¥ * 703l 21,000
207 SO0 | 270 270 0
03 A8l 270 270 0
oY= =Ald =ZEAE IIXHH 270
OM=+4 1,500& * 4500 A * 43 270
301 LetEA3 144,000 142,800 1,200
04 A28 iia2gl 116,800 116,800 0
OX=LH=ZU oAl
5,000& = 4% * 3652 « 1604 116,800
10 HALAHIEAZ 27,200 26,000 1,200
oot ASUFAA B4 27,200
OXNSHAHE M W=F Kbl
40,0003 * 630 25,200
ooz MHAUulEs &It A
5,000& = 100¥ = 43| 2,000
305 tHAa3ZS 2,000 2,000 0
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sc7y SN EH7E 520
JEIT L
grgte 25 & ZeI el (ctel: &
SR BB OS(5) - NRAY - BAS 0l & e Hlm= 2
01 &3S 2,000 2,000 0
OAMEI=E 285 AME2 ZAa3
1,000,000& * 23| 2,000
307 212t01& 2,000 2,000 0
01 Sz e 2,000 2,000 0
ONEN=SERE 24X X2
500,000& * 43| 2,000
401 AIEHIZ 2 52,830 0 52,830
01 Al&t| 52,830 0 52,830
OoUYLWEE X WM 143,000& * 3604 51,480
Ot ERASAIE AIFLAEE HAE
30,0003 * 45044 1,350
HEs ZU2ZFRA 2l 333,540 197,816 135,724
= 18,000
Al 315,540
201 Let23| 630 630 0
01 AtE222|Hl 630 630 0
O=ERJIIERE R 100& = 30004 30
OHEEZE HZ 10,0002 * 200K 200
OZ3AR¥ A22NF A
200,000& * 23| 400
301 EtBA = 332,910 197,186 135,724
= 18,000
Al 314,910
09 SR RIBAZ 332,910 197,186 135,724
(@)l Fals] 315,600
O8=+ 88,000& * 100 = 123 105,600
OsAld| 5,000& » 100 = 300 150,000
= 18,000
Al 132,000
Oun sl 2,000& » 100 = 300 60,000
on =l 15,310
Ost= 39,000& * 100 3,900
OES=F- 42,000& » 1004 4,200
OZhtt 42,000& » 1009 4,200
O& 6,100& = 100 610
O2 Xt 4,000& = 100 400
Ottst 20,000& * 100 2,000
O=R 4 X =l 500,000& * 49Y 2,000
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M= 2e7E SN EHDE QFSAD
o HYSARY(SHT ARSAD)
19l ol gyl (el @
AZ BN HH O (BH) - MBAY - BAS Ofl A o4 gggf; HRS2
SR OIS A 217,398 235,888 18,490
= 42,728
Al 174,670
HYSHHH(EL R =AM 56,399 46,649 9,750
ol 2 A 4,200 4,200 0
=2b| 4,200 4,200 0
203 PR =&l 4,200 4,200 0
04 EN2EY 4,200 4,200 0
O©JI=H (3 350,000& = 12& 4,200
=4t 52,199 42,449 9,750
Jl2&Hl 52,199 42,449 9,750
201 dEt24 | 25,319 22,289 3,030
01 AtR22telyl 19,739 16,773 2,966
OJI2gR+ 9,659,000& 9,659
oo1=Z34l(2 10,080, 000& 10,080
02 S=2494| 5,580 5,516 64
ORERZ 5,580
Ogut 2503 * 600 * 12& 1,800
Os9I 1,750& * 180 » 128 3,780
202 (4l 26,880 20,160 6,720
01 2| 26,880 20,160 6,720
©J|E=Z bl 26,880,000& 26,880
22 DIRA 29 75,784 97,470 N21,686
= 42,728
Al 33,056
OIRAOFEAHA 29 36,403 45,847 N9,444
= 11,947
st QIRA 2H 5,630 10,960 A5,330
201 Et24d| 3,040 4,140 A 1,100
01 AP 22l 3,040 4,140 A 1,100
Ool&a stHAH| 3,040
O&zZtHX 9,000& * 55 ~ 12& 540
O3t 2,500
-tHe 150,000& * 108 1,500
-4y 100,000& = 10& 1,000
206 M & H| 1,540 3,320 A 1,780
01 MHZHI 1,540 3,320 AN 1,780
OFQIoIAEZI| 2B = 1,540
OsAteai S Xl 50,000& + 104Xt 500
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NET SN EETE UASAD
Mz Dy A 2y
Ik 29 (S5 &2)
- _ _ Muo
MR (ZIH) - NIRAY - BE=Z Ol &+ 9K Ofl At ot Hws2
260,008 = 47 1,040
1,050 3,500 A2,450
223 Syl 1,050 3,500 A2,450
OlSa MEE 50,0008 * 77H 1,050
el 7,266 18,451 A11,185
sty 7,266 11,451 A4,185
JNEEIENT 4,500 8,715 £4,215
ofIAYR =3 4,500
OFoS= Sx=2 8X 25,0002 * 122 300
oZaH £ 165,0002 * 4CH * 43| 2,640
OFX=ZAI €L 260,002 * 1CH + 62l 1,560
2229l 2,766 2,736 30
oI Kbl 2,766
OI-IE=p] 2,033,00020 * 3CH * 6% 366
OFoIs=s Z9 2|
885,002 * 41CH * 6% 2,178
AP 3,700,000% * 1CH * 6% 222
2 29 11,560 9,600 1,960
11,560 9,600 1,960
1,560 9,600 1,960
HoIA =
1,1002 * 800 * 122 10,560
o2 1002 + 10,00004 1,000
2 2y 11,947 6,836 5,111
= 11,947
8,287 3,896 4,391
= 8,287
4,387 3,896 491
N +ZEHOIZ S
6,43020 * 1004 * 102 643
= 643
HE 165,0002 * 47H 660
= 660
18,0008 * 42t A %122 864
= 864
Ol MAL Q14 70,0008 * 188A 1,260
= 1,260
YL =3 Y|
5,002 * 4% « 128 « 43] 90
=2 90
3,900 0 3,900
201DH RHR2
250 * 1,300S *12% 3,900
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43 so7s SN 2HTE o
Mo DRSO NAY 2o
QIROFEANHIA 2 ?AA)
S DS (EH) - NEAY - BAS e s
= 3,900
202 (4 H| 2,160 1,440 720
= 2,160
01 =LA bI 2,160 1,440 720
oxHELY=HRFA
20,000& = 3" * 128 = 33| 2,160
= 2,160
405 KH&HFSHI 1,500 1,500 0
= 1,500
01 A& ESEFHSHI 1,500 1,500 0
osEZE2 S| 1,500,000& = 1CH 1,500
= 1,500
ZAHZEIHES 58 3 39,381 51,623 A12,242
= 30,781
ZZHSE 2d ER 29 8,600 12,800 24,200
201 etgH| 8,600 12,800 A4,200
01 AbR2t2lH| 8,600 12,800 A4,200
OIIEFHHNSEY 2d AE HA 7o
2,000& » 108 = 15& » 12& 3,600
OsMa ) =ob It MZE 1,0008 * 5,000H 5,000
SEAHNSEMRP XA 30,781 38,823 28,042
= 30,781
101 el24H| 10,814 10,498 316
= 10,814
04 JIZtMZ22XsSE+ 10,814 10,498 316
ONEBHSZYS 21 ol 10,814
ONEBHSEYS =T ol
35,1202 = 18 = 280 9,834
= 9,834
Ons=2sEz |3 9,834,000& = 1.3% 128
= 128
O=bdz 2E3 9,834,000& * 4.5% 443
= 443
O=0HLE2E 23 9,834,000& * 2.54% 250
= 250
OFIRYEE 2H3 250,000& * 4.05% 1Al
= 1Al
OttNEERegZ2 9,834,000& * 1.5% 148
= 148
201 223 16,367 24,725 A 8,358
= 16,367
01 AtR22lH| 16,367 24,725 A 8,358
O&EUH-Y 165,000& * 5004 8,250
= 8,250
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A= 2e7E SN EHDE QFSAD
HE: DAASO DIAM 2Y
&2 JISZH2elMES £S5 E2E (el &)
MR- FH-E(BN) - R - BaS 01 &t o8 e HlRE2
oO=sMEX Y 18,0003 = 300 A 5,400
= 5,400
ONEBAHS=SYRET S|
5,008 * 52 * 128 * 83 2,400
= 2,400
OHEX & AMFRES 31,700& « 103 317
= 317
202 O4Hl 3,600 3,600 0
= 3,600
01 SUHYI 3,600 3,600 0
OIIEZHEELYRFE 04l
20,000& * 53 =128 +33l 3,600
= 3,600
DAHSAO RNFEEH =5 85,215 91,769 AN6,554
SEHQ EXl2el 55,309 70,250 A 14,941
et NIJLEAL 28 55,309 58,840 3,531
101 el 24| 3,864 4,110 A 246
04 JIZHMIZ2XEE =+ 3,864 4,110 A 246
OHESAMIINYR =& R 3,864
OMNESARXNINE R =& IR Y
35,120 » 2H = 50 3,512
ong:sgg 243 3,512,000& * 1.3% 46
O=30d=RE= 3,512,000& * 4.5% 159
OZ0AHLEEREZ  3,512,0008 * 2.54% 90
OFIQRAESRE=S 90,000& * 4.05% 4
Outtg a2 = 3,512,000& * 1.5% 53
201 et 51,445 53,230 AN1,785
01 AtS22iHl 34,070 34,870 A 800
ORXIJtEALR 47,0008 * 3Z « 10& X 1,410
ogEY ZEFSKE (UM &)
1403 » 39,5000 * 22 11,060
ONIMMERE N 17,0003 * 500& * 23] 17,000
(©PNR=S 200,000& * 2& 400
OXNItEHE = 100,000& = 3& 300
OEZAAHEEH & 3,000& * 1,300& 3,900
02 2323l 17,375 18,360 A 985
ofEz=z 17,375
oZ2dsK=2 250% = 33,000 8,250
ogegsi=2 250% = 33,000 8,250
oA 2 0lgud 1,750& * 500 875
DUXQY $Sots NHAFEZX 18,237 12,642 5,595
ANEEY dRFA 13,637 11,292 2,345
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A= 2e7E SN EETE USAD
M3 DMZAO NNAY PE
P DWLQN 2SS NHHIEE (Sl &2)
] _ . MG =
A= 2N -SA(SH) - NRAY - BE=Z Ol &+ 9K Ofl At ot HwsZ
101 121yl 4,637 4,79 A155
VTR EES=P 4,637 4,792 A 155
ONHESYINEE LM EA 4,637
ONFSIIES YREARILY
35,1202 * 2% * 602 4,215
ong=Ee=Lz 4,215,0002 * 1.3% 55
O2VAILYI 4,215,0002 * 4.5% 190
OuATIHEE R 4,215,000 * 1.5% 64
ORAVRBHLLS 4,215,008 * 2.54% 108
OBIIQUBELLZ 108,002 * 4.05% 5
201 LByl 9,000 6,500 2,500
01 At22relb| 9,000 6,500 2,500
ONHEYIEY HX AL 242
130,000 * 50% 6,500
ONHZYIIER UWERR 75 5y+4E
10,0002 * 25% 2,500
X ONHSY T 4,600 1,350 3,250
405 THAHE S 4,600 150 4,450
01 RAUSEZH S| 4,600 0 4,600
OKLIS &S SUIE 22 400,008 * 49H 1,600
OEXOIS H#XHEAE POA 2
3,000,0008 * 174 3,000
DENO EXNED 29 11,669 8,877 2,792
S HAEA = 4,000 3,480 520
201 Yereg| 1,500 980 520
01 Attt 1,500 980 520
ORSHN EH+42 28F HE
1,0002 * 5000H 500
ORSA ANAI ADH 2,008 * 5000 1,000
301 YBrBAS 2,500 2,500 0
12 JER A3 2,500 2,500 0
oY WYL MDD T4
500,008 * 54 2,500
HYE 2 29 7,669 5,397 2,272
201 Yer2g| 7,669 5,397 2,272
01 Attt 7,669 5,397 2,272
OO NHA RO
2,0008 * 402 * 128 90
CELIZNE 165,00020 * 204 * 43| 1,320
OSAESBI EU 70,0002 * 43| 280
ozalZeE Y 1,869,002 * 18l 1,869
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2o (S5l &2
CEN LS (BH) - MBEAY - B Ofl A o4 gggf; HRS2
& FO0IX& 8,297,107 6,572,079 1,725,028
SHAH(EER F2X2D) 48,269 39,343 8,926
A2 4,200 4,200 0
ksl 4,200 4,200 0
203 PR =&l 4,200 4,200 0
04 EANSHERF=EH| 4,200 4,200 0
OBANSZE L=l (302l0]lat)
350,000& * 12& 4,200
&l 44,069 35,143 8,926
=34t 44,069 35,143 8,926
201 et d| 22,949 19,3083 3,646
01 AP Zelbl 15,949 14,613 1,336
OJl2g e sH| 8,029,000& 8,029
OJ|=AH|(Sl) 7,920,000& 7,920
02 ss2494l 7,000 4,690 2,310
oRERZ 7,000
Oget 2503 * 7,000 1,750
o=l 1,750 * 3,000 5,250
202 044l 21,120 15,840 5,280
01 2L odb] 21,120 15,840 5,280
OJ1=3Hl 21,120,000 21,120
I &Mote AX&#EYE el 106,979 107,184 N 205
U= FOUXXEEH 29 24,779 26,484 AN 1,705
OI XX SIE, e 3t 24,779 26,484 A 1,705
201 Bt2a | 9,454 9,384 70
01 At22telyl 9,454 9,384 70
OF0XNXHEH F0ENH E2=2 HE
2,000& * 4,000% 8,000
OFUXNX AR A22W=H 370
OFOUXNXAE Wx LAY
300,000& * 13 300
Ossa 70,000& = 14 70
OHFZAIRHHl FAIHI 1,084
OE K= AL 3,200,000 * 2CH * 6% 384
[@F:3=3=1) 3,000,000 * 3CH * 6% 540
O& =7 40,0008 = 43 160
206 M &H| 2,000 5,000 A 3,000
01 MHZHI 2,000 5,000 A 3,000
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A= 2e7E SN EHRE T
A2 EHolE AXIEHE 8
Sl LHAYE EOTIME 29 Hel)
Al 32 =] XN xH Ctel(a = AH Ve S == X‘—-IL‘E—“:— 2JF
OFUXNXME T2 MAIXE MHE 2|
sgeial) 2,000
OdSEtXl 2 178 2,000,000& 2,000
301 Et2A = 4,025 3,800 225
10 HAAHIZ &3 4,025 3,800 225
OS=XXIdH Ast 45,0009 * 453 « 13 2,025
OFRXIXRARE AW A
5,000& = 400 2,000
307 g12t0ld 8,300 8,300 0
02 BIHANEX 8,300 8,300 0
okolsXsn 2% (+=323)
8,300,000& * 1JHEHAI 8,300
405 KHAHFESHI 1,000 0 1,000
01 HARESF=H 1,000 0 1,000
OQI2el ol HX 7 500,000& * 2K 1,000
HI Aol FOXA 82,200 80,700 1,500
NS ALS BRI & XI& 82,200 80,700 1,500
307 GI12+0I & 82,200 80,700 1,500
03 AtSIEMEEZ 82,200 80,700 1,500
OMOISXIEXE2s MOtS2SAtE
300,000& = 43| = 17 = 20,400
OMOIESRUHz2 MOIS2sAtE
300,000& = 43| = 17M= 20,400
OHIEHAIISS MY
425,000& * 43| « 174 = 28,900
OS2 NFEAURNE/ARS NARSSAL
6,000, 000& 6,000
OXSAESAIY 6,500, 000& 6,500
ANSEHM &d35t 7,880 2,100 5,780
N3N gdst &2 7,880 2,100 5,780
MEld& ot gt JlBt &4 7,880 2,100 5,780
201 et 5,780 2,100 3,680
01 AtS 22l 5,780 2,100 3,680
OMHAIE L S, JPAEIHEL NEHS =
2HH| 5,000& = 2% * 10& » 128 1,200
OSHIATIO, R AHA 31 HA g0
6,0008 * 125 = 15& 1,080
OJtAStE 2 HUXESY EE2EE MEH
2,000& = 1,000H 2,000
OMcHAIE 018 & Hz2de =22 MH
1,5002 = 1,000% 1,500
202 O4dl 2,100 0 2,100
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T SN BHDH FLUNAD
o B H 25
L XSZH 2Hs £2 EEREE)
) _ . HEE -
AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
01 2Lhoitl 2,100 0 2,100
OTNAIR L SHH HABHYL XSS Of
bl 20,0002 * 3% * 352 2,100
Ssa YW A 36,571 29,435 7.136
S U SIBAE B 16,796 16,935 A139
SHAMY FF U K 11,176 5,660 5,516
202 Ot 2,176 2,160 16
01 2hoit] 2,176 2,160 i6
OsX g A5 ALEE ofY|
20,0002 * 2% * 682 * 80% 2,176
401 Al Bl L2yl 9,000 0 9,000
01 Al 9,000 0 9,000
OsIIBAIE 20IBHHA X
1,500,008 * 67H 9,000
SQIUAL 2 5,620 11,275 75,655
201 Y2 5,620 11,275 75,655
01 AtR22lt] 5,620 11,275 75,655
OsIIBAL SYL4E
281,000 * 20& X| 5,620
524 TH o O = 12,075 3,400 8,675
SN 2 JtEeD| |X 22 900 900 0
201 Ysr2 | 900 900 0
02 2T 900 900 0
OBHUAAI X S| KX
20,0002 * 45C4 900
SAMHND FHLHA 2 2,500 2,500 0
201 L2 2,500 2,500 0
01 AtR22lt] 2,500 2,500 0
OSZEYEET] L SAMMUH =7 S|
5,008 * 258 * 202 2,500
IS sYES(AHBT) Y 8.675 0 8,675
201 L2 4,000 0 4,000
2 ZZ2YH| 4,000 0 4,000
OSHYL+T KX 4,000,000% 4,000
402 RIZHXHEOIH 4,675 0 4,675
01 QIATZBE 4,675 0 4,675
ONSUUSYBH(AHBH) LA
1,870,0008 * 58 * 50% 4,675
DEE S4E Yo 7,700 9,100 A1,400
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43 s47s SN EERE FOXADY
NB: mEa AN 23
9 DER ZNE M L
A 2N M- HA(SAH) - MRAIY - BES O AFH dd T Hos
== ° T (=) iy o L) ° TNs a3 &= 04| AFOH U=sa
tSHGY SEYAHH FREE 2Y 1,000 2,000 A 1,000
201 et29H| 1,000 2,000 A 1,000
01 AbR2t2lH| 1,000 2,000 21,000
OJEHY Y ENE RE NELE 23 2
]l 5,000& * 49 = 50 1,000
dgYg 33Ud AE XA 5,500 4,500 1,000
206 M=l 5,500 4,500 1,000
01 M=z 4l 5,500 4,500 1,000
OFHSE =SYM As4Z 22,0008 + 2508 5,500
AZEE A ANEEH = 1,200 0 1,200
201 Y| 1,200 0 1,200
01 Al 1,200 0 1,200
OASTIE A HALHE N S
3,000& * 400% 1,200
FHUAHES L =R S 593,103 88,454 504,649
HOA & 2ol 2te] 17,600 16,400 1,200
HOIAFL A & 0ol 22| 17,600 16,400 1,200
307 QI2t01A 17,600 16,400 1,200
01 S22 =4l 17,600 16,400 1,200
OO AL X DHEHI 2,600,0008 * 47 10,400
O Fetal okxlH|
60,0002 * 47 * 202 4,800
ool AHotusEy| 10,000& * 209 = 12& 2,400
ZOHQ HoHE L =XSA 12,600 10,600 2,000
HOI=sSXSA 12,600 10,600 2,000
201 2EtE3F| 12,600 10,600 2,000
01 AtR2t2ldl 4,500 2,900 1,600
OXFOHIXtE ABEHX 800& =* 2,5000H 2,000
OFeIXE A8 HX 22E RY
200& * 2,500 500
OFEMUSEIIE A R0l
200& * 5,00004 * 2& 2,000
02 =323l 8,100 7,700 400
OHMOUXSANEEZ E0IIIE 24T
4,000& + 1,8000H 7,200
otHE XM sl 30,000& * 30CH 900
FHAHNEES 562,903 61,454 501,449
HASESAH Rstsua 29 62,912 40,480 22,432
201 2EtE3| 62,912 40,480 22,432
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AR BERE SN EEAE =X
NI ALSID BIX LSME DX
CHR|: L OIMEHOrE EEREED
_ _ _ MEg
A 2A BB S(BH) - HRAMY - B Y2 Ofl & 04 Sl e HRE2
| | 0&5E2Y 30,0008 * 50% * 12% 18,000
z29429 2435 164,680 270,015 A 105,335
229 HI| AA L 22 144,680 270,015 A 125,335
201 YUBt2AH 34,480 34,715 A235
01 At ZelHl 34,000 34,235 A235
OBR2Y WBAQIA A 242
25,0002 * 11500 A 2,875
OAB2Y MIGHFAA 222
55,0002 * 500HA + 95,0009 * 6574 A 8,925
0d2Y HIX HA AA
40,0009 * 11500 A 4,600
OB2Y AS AAl 20,0008 * 115044 * 23 4,600
0F2Y LHAN A2 RE2
50,0002 * 26074 A 13,000
02 ZZ2YH| 480 480 0
0AdRY AWMU
20,0002 * 12044 * 23] 480
206 M2l 16,600 1,000 15,600
01 XM=Y 16,600 1,000 15,600
0BRY AYURE 16,600
Oxdss(Ed8430])
100,0009! * 10MIE 1,000
OJACHMAIE &3 60,0002 * 2607 A 15,600
305 HHAZ2S 31,000 0 31,000
01 HHAZS 31,000 0 31,000
ODtAH2Y ABAFH BHAZ2 31,000,000 31,000
405 X+HAHE SH 62,600 103,480 A40,880
01 XML S EF SH 62,600 103,480 240,880
o1Vl 12F R¢ 62,600,0002 62,600
COHMINSRY 20,000 0 20,000
307 2I2+0| & 20,000 0 20,000
02 QIZtAAEX 20,000 0 20,000
CEEINE = 10,000,000 * 27| 20,000
HOMSID B LOIOIIIENAIE M2 328,790 210,300 118,490
Z2Y A= YRS 328,790 210,300 118,490
401 AlAH L2 HY] 328,790 123,300 205,490
01 Al&H] 303,544 123,300 200,244
OYAZZL A= AASHHI
180,000,000 * 6.72% 12,006
OSNB2Y 2l2a2l AAIAHH
16,000,0008! * 7.17% 1,148
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a3 geay SN EETE FUXAD
HH: AATID BIIF LFME 2T
CHel: HOHEID BEE SONIIEXIAIE KIS (e &
5 5 = e =
AZ SN FHH . SHR(3) - MBAY - BES Ofl &F o Ol AF o8 HluS2
ogydZE M= 1,800,000& = 100m 180,000
O=SM3ZE cl22E 16,000, 000& 16,000
oO2dERY E= 1,500,000& 1,500
Os8ZzE 2= 1,500,000& 1,500
oszdH=sd2d B 3,000,000& 3,000
OZEMZEZ2Y 2= 2,000,000& 2,000
oxpAEZY B 2,000,000& 2,000
oOF+d2E B 1,000,000& 1,000
osddzE 2= 10,000,000& 10,000
OE=2Zzd 2= 500,000& 500
ozgz2Y 2=+ 1,000,000 1,000
OL2ARY Z4 (ALFRL 2902)
3,000,000& * 3072~ 90,000
o3dzd SJl==+8 300,000& * 1JHA 300
O3dzE EE 500,000& * 3JH A 1,500
02 2eldl 3,024 0 3,024
088 EZ2E ¢= ol
180,000,000 * 1.68% 3,024
03 Al =204l 2,222 0 2,222
OZHARY ME L RS 20
308,500,000& * 0.72% 2,222
259 3425t € Ot sSEXNEY 5,859,585 4,799,998 1,059,587
AXNEE BFAY DB LAY 47,935 35,768 12,167
EFAE ANEHE & SAL U= 13,335 9,845 3,490
201 ZetEEl 7,335 5,345 1,990
01 AtR 22/l 7,335 5,345 1,990
OESAESAMA 1S 3,010
(@FNE=STIN 7,000& * 4205 2,940
O8l=% 70,0003 * 104 70
OE=SAE 2g MEA 1,725
O&EU 165,000& * 54 825
OSsAEX 18,0003 * 504kt 900
OESANLEE BExus 2
100,000& = 2% 200
SEME XNZAIH Y 22
240 *10,0000H 2,400
301 et a= 6,000 4,500 1,500
10 HALAHIE &= 6,000 4,500 1,500
O2SAESAN NEEIA 24
15,0002 * 400 6,000
EIAE 3018 =4 30,400 25,923 4,477
201 et 28,000 23,523 4,477
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M= 2e7E SN EHTH FUNAD
My 980 TRV L OHSEXHY
ol HAEE BESAMY DIEtE Y (e ®2
AR RN EY . OR(E) - MRAY - B 0] & e HlDE2
01 AtR22lH| 28,000 23,523 4,477
OBSAL HHFY ARUY 242 28,000
OFIIHHH A 55,0002 * 3507 4 19,250
OJtAordEA 25,0003 * 350JH £ 8,750
202 44| 2,400 2,400 0
01 =LA b 2,400 2,400 0
ESAME ANEFE ol
20,000& * 39¥ * 50 * 80% 2,400
O el0l =0lAl& AHI 4,200 0 4,200
201 LBt H| 1,200 0 1,200
02 22234l 1,200 0 1,200
ONE0I=0IAId & B8z
300,000 * 4942 1,200
401 AIEHIZ 20 3,000 0 3,000
01 A& 3,000 0 3,000
ONE0I=0IAId At 3,000,000 3,000
252 N8l £ 234 23t 5,721,000 4,666,000 1,055,000
Aol id 22 XA 3,960,000 3,204,000 756,000
301 LEEAZ 3,960,000 3,204,000 756,000
01 MEIEEXE 6= 3,960,000 3,204,000 756,000
OMMOoI= XtH Ots2=H|l XA
150,000& * 2,2009 » 12& 3,960,000
EFA4E Ots2hAldl K& 1,650,000 1,350,000 300,000
307 212t01& 1,650,000 1,350,000 300,000
02 BI2tAAEX 1,650,000 1,350,000 300,000
OEF|0ts 2tAdl XN&
500& * 11,0008 = 300 1,650,000
HE MAS0ts K& 111,000 112,000 21,000
307 QI2t01™ 111,000 112,000 A 1,000
02 QIZtBAEX 111,000 112,000 A 1,000
OYHAE MASOts 32X B2 YW XA
30,000& * 300 = 12& 108,000
OMAS BExR0ts HZ&E& 10,0008 *» 300H 3,000
HEESAL JIsEZ 90,650 98,230 AT,580
SEHE Helold 2< 90,650 98,230 AT,580
201 LBt 3| 250 250 0
02 =234l 250 250 0
ONE0l=0IAI4d a2 Bz
250,000& * 13 250
206 =Yl 3,100 2,820 280
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e - SN EHTY
HE: 280 ZBAAG L OIS SIS
NEBEAE Js2Y SRE
; _ . HEE =
SA B () - HIRAY - BHES il ot o =2
01 el 3,100 2,820 280
OO0RI0IZ R DI P 3,100
O+4D7 50,0002 * 12KIE 600
OZHDT(HE) 10,0002 * 10HIE 1,000
Onstn7 40,0002 * 15KIE 600
SETNI=EE 900,008 * 1KIE 900
307 CI2H0IH 79,800 83, 160 3,360
02 BIANBAEE 79,800 83, 160 23,360
©02I01Y 2| X
1,900,002 * 5% « 122 + 70% 79,800
401 Al4HIL 20| 7,000 1,700 A4,700
01 Al 7,000 1,700 A4,700
SHRHOR0T NS 7,000
OS=RHORI0IT HIAHIAL &X
1,250,000 * 4n 5,000
OZela 24 80,0001 * 25m 2,000
405 XHAHE SHI 500 300 200
01 RAUSESH S| 500 300 200
OSE3S 2 HIE DM 500
OME 2 2HAE 10,0002 * 5004 500
e 54,000 0 54,000
ENPIEESE 54,000 0 54,000
22X 54,000 0 54,000
301 LB A 54,000 0 54,000
NIEEEERETE 54,000 0 54,000
OF&MELY 30,0002 * 150KICH * 128 54,000
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25

2g30I(E

fuy
o
=g

SN 2HIE NRD

= A CSHRI(BI) - NIRAIY - BES e 2
NI 2t 562,198 507,938 54,260
dtl(E 121,001 102,958 18,043
A2 52,800 52,800 0
i 52,800 52,800 0
203 H=2 4,800 4,800 0
04 EMEH 4,800 4,800 0
©J1& AH( 350,000& = 12& 4,200
Ox=tH 5,000& » 108 * 12& 600
204 AR H 48,000 48,000 0
03 SEYR 48,000 48,000 0
ON=RE 100,000& = 40% » 123 48,000
| =4l 68,201 50,158 18,043
Jl=&d| 68,201 50,158 18,043
201 LBt 3| 29,670 27,838 1,832
01 AtS 22/l 29,670 27,838 1,832
QJl2ge=> 11,130,000& 11,130
oMo A B4 4,140
Ol =
9,000& * 58 ~ 128 540
ORIFE= 150,000& = 12& 1,800
o=z 150,000& = 12& 1,800
OJI=Z 4 14,400,000& 14,400
202 O4H| 33,531 22,320 11,211
01 = 33,531 22,320 11,211
OJI=Z 4 33,531,000& 33,531
405 Xt 5,000 0 5,000
01 X 5,000 0 5,000
o= 5,000,000& = 1CH 5,000
22 441,197 404,980 36,217
R 277,159 244,091 33,068
N 23 & 2= 277,159 244,091 33,068
1 ZEH2SH] 229,425 216,401 13,024
01 AtS 22/l 72,120 0 72,120
OXNEMBU HF F& 72,120
O&IIZAXNA 80,000& * 3004t At 24,000
O=AI2212 XA 70,0003 * 150&F Xkt 10,500
OFH.SEM HNZRE DA
60,000& * 1004t Xt 6,000
OHSE 50& * 100,0000H 5,000
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SN 2HIE NRD

SR BB OS(5) - NRAY - BAS Aro CEE Hlm= 2
Oil &k o8
CHISE 50& * 30,0000H 1,500
O=ALE X 18,000 * 2004 Xt 3,600
O&H 250,000& * 2074 5,000
OXNYAN E2E ML HE
2,000& * 2,500& 5,000
OXNgNE =8 2 HE
200& = 15,0000H 3,000
OXNYgM E8 89 M
70,000& = 62 » 10002 4,200
OXNZLN &2 2t HE
40,0003 = 63 * 18I A 4,320
02 22234l 157,305 0 157,305
o0z32= % HAl 148,750
oget 2502 = 350,000 87,500
o=yl 1,750& * 35,000 61,250
O#EAMFHHEl Rl 8,555
OmE =Pl 52,771,000& * 6% 3,167
O&EX= AL 3,200,000 * 6CH * 6% 1,152
Ok=3=19) 17,930,000& * 6% 1,076
O&=D| 40,0003 * 43| 160
Og=2 SXM 221  2,000,000& + 13 2,000
OXtsH 22| 1,000,000& = 13 1,000
202 O4dl 4,852 1,516 3,336
01 =LA b 4,852 0 4,852
OXNZA SWE 22|
75,8003 * 3H * 22 x 102 * 80% 3,639
OXNLNMEHE Azal HFAHWHI
75,8003 * 5 x 22 x 23| * 80% 1,213
206 M=l 27,882 19,674 8,208
01 M=Hl 27,882 0 27,882
(OmMEEEIS DIREE 27,882
O&H 600,000& * 17JH 10,200
OZeldRUE 1,500,000& * 13 1,500
OMeI XA 530,000& * 24 1,060
(O)=%=! 1,600,000& * 2J4 3,200
o2 ZH 420,000& * 14 420
OEUHEH 231,000& * 204 462
OEHATHIA 540,000& * 14 540
OCI¥ZHRLE 6,000,000& * 1JH 6,000
otd=zmH 700,000& * 204 1,400
OXsHE2I 600,000& * 13 600
ON=&8x 2,500,000& = 1JH 2,500
405 KH&HFESHI 15,000 6,500 8,500
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M= 2e7E SN EETE ARD
B XAl 22
D HEE WA 2 CEEED
CEN LS (BH) - MBEAY - B 0 Ak o1 e HRS2
01 XM ESFHSHI 15,000 0 15,000
OSOWAI A& ¢l 15,000,000& * 1AIAEY 15,000
S50 g A 164,038 160,889 3,149
KA My = A 164,038 160,889 3,149
201 Et24 | 145,678 141,278 4,400
01 AtS22telyl 42,280 0 42,280
OX A F4ge =T 42,280
Os= 2 MY XAM 80,000& = 1504t X} 12,000
O H2 448
18,000,000,000& * 0.0011 * 50% 9,900
Ogasdl Xl =% 1,000& * 4,0000H 4,000
OHESR=N(HZY, X)L 22|
2,000,000 2,000
OMYX tlaxa =&
2,000& * 3,00021 6,000
OJIsxagdeos =2
100,000& ~ 12& 1,200
OHEE 50& * 30,0000H 1,500
OHLHE Z4228 842 M
70,000& * 43| = 10002 2,800
ONMEANa &=+ =228 d2tE M
40,0003 * 43| * 18I0 2,880
02 s=2494| 103,398 0 103,398
02322 2 HA 101,340
Oget 2502 * 250,000 62,500
Os9l 1,750& * 20,000 35,000
ONM 22| PDA AMES
40,000& = 8CH = 12& 3,840
O Al & &H| 2 Xl HI 2,058
OXgHs o IselAa)| RAEx
4,300,000& * 1CH * 6% 2,058
202 (4 18,360 19,611 A 1,251
02 EHOAHI 18,360 0 18,360
OMEANZ & & 0ol
170,000& = 9H * 12& 18,360
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i
x
0[Ok
iin
4J
0x
ro
0X
40
0%
B

gl (EHel &e)
SO () - MBEAY - BAS 0 Ak o1 dd = HRS2
0 &+ 08
P A4 0t 6,731,473 6,885,939 N 154,466
(EER stF4) 5,623,939 5,583,790 40,149
5,544,579 5,535,012 9,567
5,539,899 5,530,572 9,327
ol d| 5,539,899 5,530,572 9,327
PIAHAZ22XNE % 5,539,899 5,530,572 9,327
OsZ0Iga Y 5,450,619
oJs3 1,200,360& * 124% x 128 1,786,136
04012 1,207,387
ey
1,770,360 * 50% * 124% * 43| 439,050
R ErS
1,770,360& * 50% * 124% * 23] 219,525
-M & S
1,770,360& * 50% * 124%™ x 53] 548,812
OIEs==Y 112,320
—bH S At 40,000& * 1249 = 12&€ 59,520
-EHl= 20,000 * 220Y = 12& 52,800
OS24 90,000 = 124¥ = 12& 133,920
O &AL 70,000& * 124¥ = 12& 104, 160
O=2e|=M| 873,510
~H M Z Al 160,000 = 124¥ « 12& 238,080
-t A2 ZH| 110,000& = 124Y = 12& 163,680
-nS 8 xH| 140,000& = 124Y = 12& 208,320
=== ]
1,770,360 = 124Y * 60% * 23| 263,430
OZWU2R4Y 825,618
R LRS!
12,6003 * 124Y = 4A|12t = 12 74,996
~EU2RLy
100,890& * 124Y = 52 x 128 750,622
OH RS 67,260 * 1249 * 20 166,805
[@PNIER=11:]E=1= 38,823
-SstM 51,400 * 20 x 43| 4,112
-1sstn 433,880& * 20 * 43| 34,711
ORI 80,000& » 124% =128 119,040
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D NADHYHSE TADIBEH

b AR

SE12n0ICte SAHEERZ NS

o

AR .82 (FH) - MIEAIY - HA2 Off AFOH S Ho=2t
== ° T R B i o ) ° . = * dos =5 O:H{ﬂ,% Lsa
202 (4 Hl 2,040 0 2,040
02 EHNYI 2,040 0 2,040
OSXNHEHY 2AIRE U0
170,000& = 18 = 12& 2,040
207 A 1IH | 50,000 0 50,000
01 &4 50,000 0 50,000
OS2 AHE ML A=EY
50,000,000& * 14 50,000
Il S2HUSK B4 302,844 502,990 A200, 146
202 (4l 1,104 1,080 24
01 =LHAbI 1,104 1,080 24
OB &P
20,000& * 3Y * 233 * 80% 1,104
401 A &HIYL 2048 301,740 501,910 A 200,170
01 Al&H| 301,740 0 301,740
©J] HYESK 24 300,000,000 300,000
OMLH Hs =2 1,740
O2BEI 442
300,000,000& = 0.0008 * 2JH2|2 480
OL7HE =3 70,000& * 18Z X 1,260
Tz ae 6,341,571 5,520,062 821,509
& 488,000
E23H & SANES 5,205,298 2,839,930 2,365,368
201 Lt 38,019 37,818 201
01 AR 22l 30,401 25,946 4,455
OE2&Hl HHE A2 15,551
OE=ZH &XI(A1) 27,5008 * 108 * 12& 3,300
OEZHEXI(A0) 66,000& * 28 * 12& 1,584
OZ2H & 48,4003 « 400 = 12& 2,324
OZ2H 23 55,000& = 1000 * 12& 6,600
OxZelH &Y 99,000& * 10f = 12& 1,188
O=Zgy 23 46,2003 + 101 » 128 555
O&EzH &M= MAH BHIEXZ 14,850
O=4D] 550,000& * 1CH * 15 8,250
Og DXt 440,000 * 1CH * 15 6,600
02 22234l 7,618 11,872 A4, 254
O RPN SR (2HEQ 47)
1,600& * 2,000 £ 3,200
OISt AIRA 4 S0 (AUSSR)
00& * 154 = 105 1,418
OS2 &HHI &l =cldl 500,000& * 63 3,000
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= = | BANSEERE HENEY
N DHENRAE TADIBES
c2ue| (&te: @2
_ _ PoNE =
2N -3 -2 (SH) - NEAME - BHES 0] Ao Om;g; Hl =2
206 K24l 55,825 43,956 11,869
01 M24l 55,825 43,956 11,869
OXRGZT2B42 M 53,142
OOAZE(STH) 121,000 * 2= 242
OABIE 5,000& * 500% 2,500
OZjotAR 14,0009 * 1,200 16,800
O2M (M) 18,0002 * 500m 9,000
o330l 27,000 = 1004 270
Ont 9,000 * 1000 » 2& 180
OXtrA2 X2 231,000 * 100K 23,100
OB 350,000 * 34 1,050
OEZ2EBLRAT 222 KH 2,683
OZ A ot EXIm 60,0002 * 54 300
O2AE A 25,000 * 3004 750
OZALE etHrE 13,2002 * 40K 528
OFXAE= 15,0002 * 154 225
Ofgadns 17,6002 * 5004 880
305 Hia=2s 10,000 10,000 0
01 HiA3S 10,000 10,000 0
OEZ AL AMDLM HiAZ
2,500,000 * 43 10,000
401 Al&HI LY 5,052,454 2,748,156 2,304,298
01 Al&H] 5,031,982 2,738,579 2,293,403
OA! Al & A HI 109,082
OS2 FHIALY 10AH
1,440,000,0002 * 2.75% 39,600
O=2Z & 4AH 215,000,000 * 3.73% 8,020
O=0I=2IALY 13A
2,363,900,000& * 2.6% 61,462
OZ 2 A 1,440,000
O2UE 871-18 X = T2 FH|Z2AF (L=94
Om,B=6~10m) 100,000,000 100,000
OXs 158 T2AHIZ AL (L=600m,B=6m)
50,000,000 50,000
OLANE tHEe=H T2 HHIZ A (L=300m,B=
8m) 60,000,000 60,000
ORES XEZ2Y T2FHI2AF (L=200m,B
=6m) 30,000, 000 30,000
OMEZ=D ~ 2222 ALH2IZF E2FH| (L
=1,200m,B=14m) 300,000,000 300,000
OENZ2 T 2FHIZ A (L=700m, B=12m)
150,000,000 150,000
OFZA ~2AW2F T2 HFHY|Z A (L=1,000m,
B=9m) 100,000,000 100,000
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CEE L O(S) - HRAY - BAS

©

©

©

OYAME S2FHIS A (L=400m, B=10m)
50,000,000&

OSHWWAIACI ~ ASAtHel T2 FHISA

(L=1,200m, B=20m) (M| S AHRI 124 02
SEHAHZ ~ AW S2HHI S AHL=1,
400m, B=12m) 300,000,0002!
ORES A% 2-16858 T 2HUIS AL (L=15
Om, B=8m) 300,000,000&
Y 24
MU 2+BA AAEHEY
14,000,000&
OS24 BLBA AAEHBY
12,000,000&
Od W 23 A 410,000, 000&
O=4tn B=Z At 350,000, 000&
ORPHUZY 89 28,000,00024
OSw wH IEIA 70,000,000&
sRuE
ORY7E L2 S2HHIZA (L=320n, B=3n)
63,000,00024
OX/A43E8 2 =2 ZH S A (L=500m, B=3m

0

60,000,000&
ONES 149-481X = s2ZZZAF (L=35
Om, B=3m) 50,000,000&
ON =68 =ZEZ &S AL (L=280m, B=3m)
42,000,000&

0

FOl=2AAY

O2AFIM=A & ESHHIZ2AF (L=470m. B=2m
) 80,000, 000

OEHRHM=2 & SSEHHI2A (L=250m. B=5
m) 100,000,000

OY A2 ESHH|ZAF (L=400m, B=2m)(AMIE
At A) 02

OFF 28 & B HH|ZAF (L=550m, B=3m
) 100,000,000

2 = S HHIS A (L=550m,
NS AIEHZA) o0&

OllEs s =sI2 dU=2HHISA

0,000,000&

8
O=2ls (874t ~ =2lHR) EEFHISA
60,000,000

O=sis (&Ex1 ~ Si2xt) ESFHIS A

(L=600m, B=3m) 80,000,000
O=2Hs(Uext~Ustn) 2= HEI 2 AF (L=55
Om, B=3m) 80,000,000
OblE ANHETEF 2% HNAHE) 2
(1a1) 20,000,000

50,000

300,000

300,000
884,000

14,000

12,000
410,000
350,000

28,000

70,000
215,000

63,000

60,000

50,000

42,000

2,363,900

80,000

100,000

100,000

80,000

60,000

80,000

80,000

20,000
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NESE RS M EEE ALDED
o (DY CADIBEA
CHel: TRl (crel: e
A= 2N -SA(SH) - NRAY - BE=Z Ol &+ 9K a4 Hlw &2
== ° T R B i o ) ° . = * dos =5 0:”/.:"% Lsa
Osdx=wd 2T FUI(L=1,180m, B=2.0m) (Al
PASEHA) o0& 0
Og2¥sstn FH B=d8((L=340m, B=2.3m)
115,000, 000& 115,000
Ost&Exzw F=H BT FH|(L=340m, B=2.0m)
105,000, 000& 105,000
O 2R X2l 700,000,000& 700,000
OLAZXEIRIAY 803,900, 000& 803,900
OFQT2Y MEXY(48Hd)
40,000,000& 40,000
OZH=ER EH=+2 500,000& * 40E X| 20,000
03 Al 2 0HY| 20,472 9,577 10,895
OS2 EHIAIY =& 5,184
O52 0| Bt At 1,440,000,000& * 0.36% 5,184
OudEAg =4 5,229
O54 0| BHZ At 830,000,000& = 0.63% 5,229
Os=sZEZHAY =& 1,548
O5A 0| B AL 215,000,000& * 0.72% 1,548
OF0I=2AY =& 8,511
O52 0| 2tB At 2,363,900,000& * 0.36% 8,511
405 KH&HFSHI 49,000 0 49,000
01 MHAEESHSHI 49,000 0 49,000
(OF=W: [ EEN=S = 9,000
OEST 4,000,000& * 1JH 4,000
OAUTO CAD 5,000,000& * 1JH 5,000
ox=zJlstt 7Y 40,000,000& = 1CH 40,000
KIS ALS 1,136,273 0 1,136,273
& 488,000
Al 648,273
401 AIEHIZ 2 1,136,273 0 1,136,273
& 488,000
Al 648,273
01 Al&H| 1,132,305 0 1,132,305
OXI LA & AIE A
1,102,000,000& * 2.75% 30,305
OAE1E BZ=FHHI 3 AHL=400m, B=4m)
50,000,000& 50,000
& 50,000
ORAMNZ(22U-25 1) B=&Ul(L=540m, B
=2m) 50,000,000& 50,000
& 50,000
O=EZUHuAIHCI-ASAMHIZ2ZE =23H|(L=1,2
00m, B=20m) 365,000,000 365,000
& 65,000
Al 300,000
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M= 2e7E SN EYDE ALDED
A A7 LdMIst STADIBES
o°Hel: 222 (Ste- & &)
Al 32 t:sA_l X XH [:|-o|(=|):”) }\.||:|}\|,o-| A= Oﬂ/\}OH In_-lln“j_'nz_ H|j§3k
== ° T == T2 : - =5 T uS = &= 04| AFOH U=sa
OJIds 2 =FH|IAY (L=540m, B=3.5m)
77,000,000& 77,000
& 77,000
o=sU2s 23Ul 3AHL=220m, B=4m)
30,000,000 30,000
& 30,000
OFYsS AHIRY IMNRI| BAHL=165m, B=3.
m) 30,000,000 30,000
= 30,000
OZAIZ 2 =& U3 AHL=400m, B=2m)
120,000, 000& 120,000
& 50,000
Al 70,000
OREs ot 2= FH|3 AHL=550m, B=3m)
100,000, 000& 100,000
= 50,000
Al 50,000
O=2FExN ¥ 2T=HHIBAHL=1,180m, B=2m)
280,000,000 280,000
& 86,000
Al 194,000
03 Al =20HY| 3,968 0 3,968
OXISIHE A Al 2CHYI
1,102,000,000& * 0.36% 3,968
WES 28 2 =32 &3 4,000,861 2,894,781 1,106,080
= 270,000
Al 3,730,861
otz . Bets w2 2,452,958 1,359,315 1,093,643
= 270,000
t220ots 22l 1,456,278 1,256,440 199,838
201 Let29h| 1,053,858 910,693 143,165
01 AbR22lH| 28,698 21,8583 6,845
OJt2s dII4ddl Ed ==& 20,588
OMO2I 42,6003 * 18000 £ 7,668
ojtzs 6,800& * 1,900 2 12,920
OREHEZ SHHB2AUY +22
170,000& * 123 2,040
OHDIEAtHE] oML =5
460,000& = 12& 5,520
OddE EAME 04 70,0003 « 1# 70
OJtzEets el Ii=l 480
Ooxg= 90,000& * 29Y 180
Odgst= 100,000& = 29H 200
Oerd gl 50,000& * 29 100
02 23234l 1,025,160 888,840 136,320
OJI2E2ots &IIR3S 1,025,160
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M= sy SN EYTH ALDSH
My WHe JI2HY U =XBL HE
L Jl2 . 2olS ]I (Sl #)
_ _ SIEN
2. 2H B S(E) - HRAY - B 0l &k 24 e HlnE2
OJ=ZS 6.5002  7,1005 128 553,800
ORosS 48002 * 6,1005 * 122 351,360
OTEEHE 4,000,000 * 122 48,000
OHOIZAHRI HE 6,000,002 * 128 72,000
206 THEH| 37,900 31,500 6,400
01 T2l 37,900 31,500 6,400
ONE2HUHS BLEIN 37,900
OUEEBYT 28,0002 + 30004 8,400
OUEEED] 36,0002 + 30074 10,800
CRIE=-Eb] 88,0002 + 10074 8,800
OBJEt=1-[=D] 495,000 * 2004 9,900
401 AIZHIL 2O 364,520 314,247 50,273
01 Al 362,000 312,000 50,000
OXZROS B4 350,000,0002 * 14 350,000
0}2SIT Ha 12,0002 * 1,0000H 2 12,000
03 Al&=CHYI 2,520 2,247 273
OX}ZRS B4 350,000,000% * 0.72% 2,520
IHEBAS A L DA 551,497 102,875 448,622
401 AIEHIL 2O 551,497 102,875 448,622
01 Al 550,011 100,000 450,011
OJ}E2FOUS M& L DA
100,000,0002 * 144 100,000
OBHFL ~ TNl IE2S HX
3,847,0002 * 1304 50,011
OO BHE 2otS & (0K 2 HA)
00,0002 * 1,0000H £ 400,000
03 Al&=CHHI 1,486 2,875 A1,389
OJ}2ES Ms U DA
550,011,002 * 0.27% 1,486
2SS AASYHO ALY &X 445, 183 0 445,183
2 270,000
Al 175, 183
401 AIZHIL 2T 445,183 0 445,183
2 270,000
Al 175, 183
01 Al 442,000 0 442,000
ON2S FAZAHO ALY &3
442,000, 00024 442,000
2 270,000
Al 172,000
03 Al&=ChHl 3,183 0 3,183
OIS FAZLHO ALY 20hY|
442,000,000% * 0.72% 3,183
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42 suay M EETH HEDED
Bu: NE JlRed U SN2Y HE
el 3 SEHE AtY (H:H2)
AR . = NzH . Clo (5 S Al . HA 2 Al OH HEE =}
& S At 1,236,431 1,223,544 12,887
HelolZS& KA 666,332 608, 354 57,978
201 LEt23d| 70,750 3,830 66,920
01 AbR2t2lH| 33,030 1,800 31,230
OZ3U SHAHRANE EES
30,000& * 10100 & 3,030
O 0IZ& tEAA =2
1,000,000& * 300424 30,000
02 22234l 37,720 2,030 35,690
oO=3=2Ztdl £ HA 37,720
O3& &ot=Ee3
1,000& = 100 = 12& 120
OU 20l =0lAIE AtLDHIA HUSH
400,000 * 94044 37,600
206 M=l 4,500 4,500 0
01 =4l 4,500 4,500 0
OMSALHI VRIOIZE AE 42 7
3,000& * 1,500& 4,500
305 Hia=S 3,000 3,000 0
01 &3S 3,000 3,000 0
O0EO0IZ3 W Aolilloh tHats
3,000,000& = 1A 3,000
401 Al&HI L 204 588,082 567,024 21,058
01 Al&H| 584,400 564,400 20,000
ooeol=sd &l 584,400
O0eol=s& 2l 2,300,000& * 104942 239,200
O0eoI=sd Ald2 sl
1,300,000& * 10404 A& 135,200
OOt 0l0F Hel0IZ& A= HHISA
100,000, 000& 100,000
OUOU MeloIZ& AMEsS ZulSA
100,000, 000& 100,000
Oz HelolE& Al82 ZHISA
10,000,000& 10,000
03 AIE=20bl 3,682 2,624 1,058
O0elolZ& 2l & FUlAtY AIE20bl
584,400,000& * 0.63% 3,682
HelolS& SUStALE 570,099 615,190 A45,091
401 A &HIYL 2048 570,099 615,190 A45,091
01 Al&H| 566,680 611,469 AN44.789
O0Eol=& SHatAY 542,640
Odd Helolsd StHat At (A=1,553m")
170,000& * 1,553m’ 264,010
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A= 2H7H SN EETE AEDSDH
Ha: W JI2BY L =XBA HE
el 3 SEHE AtY (H:H2)
Al 32 t:sA_l X XH [:|-o|(=|):”) }\.”I:I}\l,o-l A= Oﬂ/\}OH In_-lln“j_“:_ H|j§3k
== ° T == T2 : - =5 T uS = &= 04| AFOH U=sa
OJd2 Hel0l33 SUah Ard (A=1,639m)
170,000& * 1,639m’ 278,630
O 0= SUIAME AAIEAHI 24,040
OdZ U2 SstArY
264,010,000& = 4.43% 11,696
OJtE= HelolZ3d SetArY
278,630,000 * 4.43% 12,344
03 AlE=20HdI 3,419 3,721 A302
ONE o3& ZdAY =&
542,640,000 * 0.63% 3,419
HZ2 & =XA4E 2e 311,472 311,922 A450
otz 2tel 95,127 105, 185 A 10,058
201 2Br23d| 1,290 1,650 A 360
01 AtS2t2ldl 1,290 1,650 A 360
OJ24, =82 0lAZHl LR (24AD])
430,000& = 10§ * 33| 1,290
401 AIEHIZ 2 93,837 93,000 837
01 Al&HI 93,000 93,000 0
OE2H It =X MH (AXZ2 9gBizd
) 10,000& = 9,300 93,000
03 Al =20HY| 837 0 837
OJt2 SXNMAAY =&
93,000,000& = 0.90% 837
=X AIE 2el 216,345 206,737 9,608
101 eIl 24,562 23,210 1,352
04 JIZtHZ22XSE+ 24,562 23,210 1,352
OJtZ3tae| 2 24,062
OZ2AM 50,000& * 49 = 90 18,000
O==FJls AME&2| 35,1208 = 29 = 50 3,512
OASIBEZ 2,550
-SRAIREZ 21,510,000& * 4.5% 968
LR
21,510,000& * 2.54% 547
“AIIQABEREEYZ 547,000& * 4.05% 23
-IESEERY3 21,510,000& * 1.3% 280
~MATNEE S 21,510,000& * 3.4% 732
o244 Xzl 500,000& » 1H 500
201 LBt H| 3,420 2,327 1,093
02 22234l 3,420 2,327 1,093
O&HXEOI MIRS 100,000& * 123 1,200
O3& =XIAA 22 &yl 2,220
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M= 2e7E SN EYDE ALDED
M YHe JI2Ed ¥ =sX3 =HE
DIlE H =XAE 22 (el &)
SN EE - SR(EN) - MR - BAS 01 &t o8 e HlRE2
SEEENEFE))
1,600&  4¢ » 10CH * 30 1,920
Odlaleg 5,000& = 0.2 10CH * 30 300
206 M=H| 11,270 9,700 1,570
01 X2l 11,270 9,700 1,570
OJt23te & I 2tel 900
Odel 88 100,000& * 98 900
OJtZ2ste & 0 0Is& 2el 2,870
Oodlzg 7,000& * 501 350
OM=R 8,400& * 1509 * 23 2,520
OJZstH OrMatE Al I & 7,500
OuEs 1,500& » 5,000=2 7,500
401 N EHIL20H] 177,093 171,500 5,593
01 Al&H| 175,827 171,500 4,327
OZdFH (892 2/ 169H4)
1,000& = 101, 132m’ 101,132
osg=eltidyl (22 2 7HL)
1,000& * 65,695m' 65,695
os&zZH FUXE0I &X
9,000,000& = 1CH 9,000
03 Al =R04Hl 1,266 0 1,266
O=sXZclAY AL S
175,827,000& * 0.72% 1,266
=MEAIE 98 MY XA S 27,872 20, 142 7,730
METR 54 2 BES 27,872 20,142 7,730
A= 0 & 18,592 10,740 7,852
201 Yer2 YY) 16,842 10,660 6, 182
01 AtE22/Hl 10,880 6,780 4,100
od=0Y S22 MA 7,130
OdtExy e 6,000 * 2000H 1,200
O2X 5,000& = 504 250
O=2 2,500& = 1,0004 2,500
O8l=% 70,0003 * 304 2,100
OxgE g 4,000& * 20004 800
OFSg=) 2,800& » 100 280
OLt= &t Il=4l 2,250
Ooest= 100,000& = 15 1,500
Oetd 3t 50,000& * 15& 750
Ou=gXNHMER 2 S
5,000& = 298 * 150 1,500
02 =234l 5,062 3,880 2,082
Ou=gXHMER HY 910
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2 2oy SN EHTE ALDED
M SMCAS 9B AR
Chel METR B4 2 B3 (el a2
AR RN IH (BN HRAY - B S sk e 2
ORFU(S®) 900& * 64+ 150 810
Os Xl 100,000& = 1CH 100
Ou&t=&8 &l = Xdl 3,862
ORdsaEHI 450,000& * 3204 = 4/100 576
OL=2EEZX 1,000,000& * 1CH 1,000
Oulof =&l 3| 990
S 1,6008 = 54« 30H » 30 720
e 1,500% = 24+ 3CH » 30 270
OMEZANRE =& 9 MSES R0 (3
=) 1,600& 34+ 30H » 90 1,296
OLEUHME RHE= =2 1,190
O&FIIZMN=Z 70,000& * 170H 1,190
206 M= 1,750 80 1,670
01 M= 1,750 80 1,670
Out=&8 3| 950
OZ 7,000& * 1004 700
Oslcd= 5,000& = 504 250
OsliE 2HI| tigel 80,000&  10CH 800
BN E2SAME 9,280 9,402 A122
A 2y 5,280 5,402 A122
01 AtRarelt| 1,000 500 500
OASUHAL HO 22E S|
5,000& = 200 1,000
23 2ZH| 3,860 4,482 AB22
O ESZ NIl =Xl 3,860
OR=U (B%) 1,400& * 404 » 60 3,360
Os Xl 500,000& * 1CH 500
A2 S 420 420 0
O XIE=, SEoY A 420
O8l=% 70,000& » 204 » 35 420
=] 4,000 4,000 0
24l 4,000 4,000 0
OdlE YHES ¢4H 2,000& = 2,000= 4,000
Mohel M=zt & 554,457 577,677 A23,220
& 50,000
Al 504,457
THoH Ol & AR 142,446 102,545 39,901
2 THoH 2tel 142,446 102,545 39,901
A2 Y| 42,580 47,355 ~4,775
01 AtER22/Hl 19,190 24,460 N5,270
ol-ae g2 g9 70,000& * 123 840
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A L SN E2HTY AEDSDH
2 e - Mol MEs P
SRl T - THOH CI AN (e @e
= HUE &
I RA-EH (BN - MRAY - BYS 0 & 24 e HIRE
OMHH HIA2 2K S|
5,009 * 42§ 1002 2,000
OMUBE sea 22X S|
5,009 * 28§ * 1502 1,500
OMHAZ =78 Hul UXE 14,850
024D 550,008 * 1CH * 152 8,250
Og It 40,0008 * 1CH * 152 6,600
02 BB 23,390 22,895 495
OTUSE A EA Ll (AHSRK)
9002 * 204 + 105 1,890
O I 44| 21,500
Omel RR22 6,000,008 * 1CH 6,000
ORREH (HgR)
1,6002 * 504 » 208l * 5Cf 8,000
OMES ReHarmIl 2l
1,500,000% * 5CH 7,500
206 M2 HI 99,866 55,190 44,676
01 M 99,866 55,190 44,676
OMHHRE Xt I 11,856
OPPE f 2872 * 20,0000H 5,740
O&tX 98,0002 * 202 1,960
ORss 28,000% * 2093 560
ows 5,0002! * 3007H 1,500
o2 40,7008 * 302 1,221
ovl 29,1508 * 302 875
OMGIHE XN 83,010
Ogsizs 374,002 * 100 37,400
043 140,0002! * 300 42,000
o= =Ll 2872 * 30,0000 8,610
SHE - HHEAIE KA A 412,011 475,132 £63,121
= 50,000
SHE - BHAAE Tl 2 s 336,336 127,700 208,636
201 Yereg| 7,503 0 17,503
01 AtR22lt] 8,910 0 8,910
OBHE L EA M ZHIS FHIYNE (24
o) 50,0002 * 10 * 15 8,250
CNEETES I 480
OUFII RBRU (FLR)
1,6002 * 50+ 204 * 30 480
OB ELAIRY TI=| 80
o= 130,0002 * 1% 130
OoH& 5 50,0008 * 19 50
02 B2 8,593 0 8,593
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A - SN EEPE AEDSH
2 e - Mol MEs P
SRl GHE - A K ALY (S5 &2)
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & e HRE2
oolg U =EIY szl 4,993
O=e2s (J2HAH) 1753208 = 104 76
OZg=2s (o, H8) 5737408 » 10H 574
ORSIA (32X 48) 50,0008 * 1CH 50
OBBNE=REZ (342R28)
46,2309 * 104 * 23l 93
OF Y ERS 50,0008 * 1CH * 23] 100
O & KX 4,000,0008 * 1CH 4,000
OLHE HWABIZ RN 22|
300,008 * 122 3,600
202 Oft] 2,040 1,800 240
02 E0it] 2,040 1,800 240
OB HUAIRE B0t
170,000 * 1% « 122 2,040
401 Al&HIL 20| 276,793 125,900 150,893
01 Al&t| 274,885 125,000 149,885
ABHE SXIBEIAY 40,000, 0002! 40,000
OBLHGHE 4= L ZHID| BAF (A=70,000m)
30,000,0002! * 3£ 90,000
OXZE SOFHIBAF (L=100m, H=3.0m)
250,0009! * 300 75,000
OO0IZA SOFHIBAF (L=80m, H=3.0m)
250,0009 * 240 60,000
OMUE SOMHIBA S 221 A&
265,000,008 * 3.73% 9,885
03 Al&=CH| 1,908 900 1,008
OB HSNB2IAY ALY
265,000,008 * 0.72% 1,908
405 THAHE S 40,000 0 40,000
01 RAUSEHSH| 40,000 0 40,000
OBt £IISE HFPY 40,000,008 * 1CH 40,000
2ES L2 FH GI4E IHITA 75,675 0 75,675
= 50,000
Al 25,675
401 Al HI LS 75,675 0 75,675
= 50,000
Al 25,675
01 Al&t] 75,000 0 75,000
ORES 222 T o4 E ZHIBA
75,000, 0002 75,000
= 50,000
Al 25,000
03 Al& = CH| 675 0 675
OBt +% FHIZB A AIZROHHI
75,000,000 * 0.90% 675
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SEREED)
_ _ SIEN
N - Z3 () - MM - BES H o loﬂ/ix_FOH Hos
=7 226,833 233,561 ~6,728
H(EST 2ASD) 57,875 39,879 17,996
2 22| 4,200 4,200 0
4,200 4,200 0
203 HeEXY| 4,200 4,200 0
EASYAREY| 4,200 4,200 0
©JIZ=ZHl (302 0I5t 350,0008 * 122 4,200
53,675 35,679 17,996
b 53,675 35,679 17,996
Usr2 oyl 34,475 21,279 13,196
01 At 22| 29,109 13,893 15,216
0IIEHRLHHSAHY| 8,029,0002 8,029
OAEAR=Z EL2 MH 5002 + 9,00004 4,500
OSHARS L REAEIY 2 M
5002 * 10,0000 5,000
OAEUH ALY ADE 4,380
O=AEX 18,0002 * 104Xt + 122 2,160
OEUCS™IIERIX (LHE)
165,0002 * i * 122 1,980
LIS 20,0002 * 1} * 128 240
©JIEZHI(S2H)
5,002 * 20 * 802 * 90% 7,200
zze2gyl 5,366 7,386 A2,020
OAZHUALZRZ PHE 4,800
oYer 25020 * 200S * 122 600
0S9l 1,75020 * 200€ * 122 4,200
OFXF= Al SXIHl  3,700,0008 * 20§ * 6% 444
CLIE=SIRE=S L] 2,033,0002 * 6% 122
o1t 19,200 14,400 4,800
204048l 19,200 14,400 4,800
©JI=Z | 19,200,000 19,200
A a5t 168,958 193,682 24,724
AZSY =3 100,048 123,392 ~23,344
A=UNS s 2 82,880 115,501 ~32,621
EIEIES=T] 82,880 115,501 A32,621
NI 82,880 115,501 ~32,621
OAEGIIF SERFALZAL HOAALHS LT
148,0008 * 45021 * 20% 13,320
OANBZQ ERFAL LA HAALHS ST
148,000 * 47021 69,560
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N SA  2E7E
AT A3
L 2YEe NEos
SA-EB .S (3H) - MEAY - B O &b o e
201 et d| 13,794 8,986
01 AFERZelbl 12,434 7,986
OLAAIXE W2
54,000& * 4m" x 43| 864
OYHZIEI| REANE HEFE ZEH|
5,000& » 60 » 20 6,000
OLMEX=Z HEZRA HgSs 850
OXg= (o) 70,000& = 54 350
ogst=(s&D) 100,000& * 54 500
ogHLEEA HEEN S
5,000& * 4% x 100 2,000
OLAXNIES (HHOIH S) EHEH X2 1,270
O XA Xt 275,000& = 1CH = 23] 550
Ost= et 360,000& = 1CH = 23] 720
OLMXMX= HH EE2= HE
50& * 15,0000H 750
OHZIG)| RN & EES 700
(@)=L, 70,000& * 1090 700
02 ss294l 1,360 1,000
OHERA SAXZ Y| 500,000& = 2H 1,000
OHEE AIE= 30,000& = 128 360
202 (4 12,040 9,000
01 2Uhoitl 1,840 1,800
oBY-FY 0]
20,000& = 5Y x 233 * 80% 1,840
02 SHOAHI 10,200 7,200
OLHY SE2 FH0)
170,000& = 5% * 12& 10,200
206 M &H| 1,800 140
01 M4l 1,800 140
CAMXIZE AUl Il 2L 1,080
QN2 A2 2,800& * 300% 840
O&EHII72 80,000& = 34 240
OYHZBIMSD| 2HMHME SHEE JIANM 2L 720
O2x 10,000 * 344 340
Ot 8,000& * 350H 280
OdEs 10,0002 = 1004 100
405 KHAHFE S HI 900 0
01 ML =EF SHI 900 0
OL&A L SAMEIZ &= Jtilct
500,000& = 1CH 500
OL&A Y LANIE S8 HEE
400,000& = 1CH 400
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